7Oy —.

22 4R

i = e

EZ0WERIZ. 5%

AoV —=v T4 bH—F (BR) |
EFAO I -

X, EfEEOHFTITIC

B A EEINANEEETKR - TV PEEEBSEFFR (JBET)
[Zrr] @ BRI HEHEET114-5
[E2£8] 9 :00~17 : 00(RFAAMC D W TIZRBE KT & W)
[(f515] &KXK1I0A (HEBOZFHIRRICKYBEEREABICEEN I IWVWET, FHFICTHEAET I L,
[FesafARER] @ 1YY (BHA) (B4 [@)
B N +HTEE | FERE =
PN 1,980 1,650 2
NHE (g A 2,475 1,980 4
10 A~19A 2,750 2,200 [
20 A~26 A 4,125 3,300 !
PEE (30 A~36A 5,500 4,400 6
40 A~44 N\ 6,875 5,500 2
RKHE |99 A 15,125 12,100 2
PR, FBREHITFHE 3,300 (BiA) #HEL=ZITET,
KE7o, BXHOVFORITIRAFHRHI ZEBIBREWE T,
[5= 1]

COWTIEZHEARLCTZE LY,
BHLAKR] 7H4—L &Y TEELTEI UL,

B9 H5RHEIBENTOET,

)



